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QUESTION

Refer to Resource A and Resource C when answering parts (a) to (c).

(a)

Calculate the break-even number of clients for fishing trips on a per trip basis.
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(b)

Calculate the annual profit from fishing trips, based on an average of 15 people per trip,
assuming three trips per week over 50 weeks.
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(c)

Explain how the seasonal nature of fishing may impact on the monthly profit earned by Tauika.
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Refer to Resource B when answering parts (d) and ().

The break-even number of clients per div%h*fourw

(d) Calculate the margin of safety percentages for dive tours over the first three months with three
people per tour, and once the average number of people reaches six people per tour.
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(e) Explain the meaning of each margin of safety for dive tours you calculated in (d).
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4

Refer to Resources B and C when answering part (f).

® 0

Complete the cash budget for Tauika for the three months ended 31 January 2024. The

fishing trip figures and drawings have been provided for you. Annual fixed costs (cash) are

paid monthly.

(i) Calculate the total receipts, total payments, and cash surplus or deficit for each month.

Tauika Cash budget for the three months ended 31 January 2024

November December January
Estimated receipts
Fishing 53080 28080 26160
Diving 12,600 | 12600 2 $.200
Total estimated receipts ¢ Ses0 oy €30 S 366
Estimated payments
Variable expenses fishing 11000 27000 11000
Variable expenses — diving Sy O S &o0 O, oo
Fixed costs (cash) - fishing 4250 4250 4250
Fixed costs (cash) — diving 600 6O o SGOQ
Drawings 8000 8000 8000
Total estimated payments S7 250 S 32350 A2 &S0
Cash surplus (deficit) 25430 O 2520 220

(g) Make a recommendation to Manu about whether he should go into partnership with Pania and
add dive tours to Tauika's fishing trip offering. Consider the immediate and long-term impact of
adding dive tours to Tauika’s fishing trips in your recommendation.

Your answer should include:

. detailed financial and non-financial information provided in this assessment and the

resource booklet

. additional calculations and/or non-financial information necessary to support your

recommendation

. a conclusion justifying your recommendation.

You may make any reasonable assumptions in the context of Tauika.
Use the table on page 5 to provide additional calculations and plan your answer. This may be

used for marking purposes. Start your answer on page 6.
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PLANNING

Financial considerations

Non-financial considerations
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91408

QUESTION
NUMBER

Extra space if required.
Write the question number(s) if applicable.
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Subject:
Standard:

Achievement

Accounting

91408

Total score: 04

Q Marker commentary

(a) Calculated breakeven annually.

(b) Calculated annual profit correctly.

(c) Attempted an explanajcion as to why profit is_ affected by seasonality. No
reference to changes in variable costs and fixed costs.

(d) Calculated margin of safety correctly.

Defined and explained, in context, the meaning of the margin of safety clearly.

Attempted the cash budget but only managed to calculate fixed costs
correctly.

Planning: evidence of relevant calculations separating Fishing and Diving cash
flows.

Attempted a report with a recommendation and conclusion.

The financial reasoning refers to the planning page, and the report itself lacks
relevant detailed financial information. Some reference to profit even though
explaining cash flow.

Relevant non-financial reasoning included.

In general, an Achievement level report will reference information from the
resource correctly but lack further calculations.






